
 

MODEL TEST PAPER 
CLASS VIII (Pratibha) 

(MATHS) 

Time :- 𝟐 𝟏

𝟐
𝑯𝒓𝒔.         M.M. = 50 

समय  :- 𝟐 𝟏

𝟐
𝑯𝒓𝒔.         पणूाᲈक  = 50 

 
 General Instruction:- 

1. All the Questions are compulsory, 
2. Paper is divided into four sections  

SECTION –A 

Q.1. What should be added to ିଵଷ

   ଵ଻
    to get zero?     (1) 

 ିଵଷ

   ଵ଻
     मᱶ कौन सी सं᭎या जोड़ने पर श᭠ूय ᮧा᳙ होता ह ै? 

Q.2. Write algebraic expression for ‘7 added to the double of m’   (1) 
 ‘m के दगुने मᱶ 7 जोड़ ᳰदए गए’ इसके िलए ᳞ंजक िलिखए | 

Q.3. How many faces are there in the given solid?     (1) 
 ᳰदए गए ठोस के ᳰकतने फलक ह ै? 
    
 

 

Q.4. What is the length of the building?      (1) 
 इमारत कᳱ ल᭥बाई बताइये ? 
  

 

 20m 

 

 

 25m   

Q.5.  Find the value of x       (1) 
  x का मान ᭄ात कᳱिजये  

      ହ

ଵ଴
=

௫

ଵହ
 

   
 

    5m 

   
     5m 

Building 

इमारत  



SECTION-B 
Q.6. Write number of faces, edges and vertices in given figure.   (2) 

 िन᭥᳖ आकृित मᱶ फलक, ᳰकनारे व शीषᲄ कᳱ सं᭎या िलिखए | 

  
Q.7. In a milk packing factory a machine fills 9800 pouches in 7hrs. How many pouches will 

be packed in 5hrs?       (2) 
ᳰकसी दधू पकै करने वाली फै᭍टरी मᱶ एक मशीन 7 घंटे मᱶ 9800 पाउच भरती ह ै| वह मशीन 5 घंटे 
मᱶ ᳰकतने पाउच भरेगी ? 

Q.8. Write an algebraic expression for area of a field of length 2x+y and breadth 2x-y.  
2x+y ल᭥बाई तथा  2x-y चौड़ाई के मैदान का ᭃेᮢफल बताने के िलए ᳞ंजक िलिखए | (2) 
 

Q.9. Write the shape of the top view in the following figures.    (2) 
नीचे दी आकृितयᲂ के ऊपर से दृ᭫ य कᳱ पहचान कर आकार बताइए | 

 
Q.10. Using proper identity, find the value of (103)2.     (2) 

 सवᭅसिमका के ᮧयोग से (103)2 का मान ᭄ात कᳱिजए |  
Q.11. Rabia took Delhi-Chandigarh Shatabdi train. At different times her distance from Delhi 

is shown by a graph given below.      (2) 
रािबया ने ᳰद᭨ली-चंडीगढ़ शता᭣दी ᮝेन ली | िविभ᳖ समयᲂ पर ᳰद᭨ली से उसकᳱ दरूी नीचे आलेख 
᳇ारा दशाᭅई गई ह ै| 
 

 



 
(a) When did the Shatabdi train stop? 

शता᭣दी ᮝेन ᳰकतने बजे ᱧकᳱ  
(b) What is the total distance did Rabia cover up to 10 o’clock? 

10 बजे तक रािबया ने ᳰकतनी दरूी तय कर ली थी ? 
Q.12. Write two rational numbers smaller than 1.     (2) 

 1 से छोटी दो पᳯरमेय  सं᭎याए िलिखए | 
Q.13. Evaluate :-        (2) 

मान ᭄ात कᳱिजये :- 

{(
ଵ

4
)-1 – ቀଵ

6
ቁ-1}-1

 

Q.14. If you have to arrange 1400 flowers in a square rangoli for your school’s Annual Day 
function in such a way that number of flowers are equal to the number of rows. How 
many flowers will be left after making Rangoli?   (2) 

यᳰद आपको अपने िवधालय के वाᳶषᭅको᭜सव के िलए 1400 फूलो ᳇ारा एक रंगोली इस ᮧकार 
सजानी है ᳰक फूलो कᳱ सं᭎या, पंिᲦयᲂ कᳱ सं᭎या के बराबर हो | सजावट के बाद ᳰकतने फूल बच 
जाएंगे ? 

    
    

SECTION-C 
Q.15. Sanjeev had few marbles. He bought some more marbles and now he has four times 

the number of marbles he had initially. He lost 5 marbles and then his friend gave him 6 
marbles. Write an  algebraic expression for the marbles he currently has. If Sanjeev had 3 
marbles  initially, what is the number of marbles he has now? (3) 
संजीव के पास कुछ कंचे थे | उसने कुछ और कंचे खरीदे तो 4 गुना हो गए | उसमे से 5 कंचे खो गए और 
उसके दो᭭त न ेउसे 6 कंच ेᳰदए | अब सजंीव के पास िजतने कंचे ह ैउसके िलए ᳞ंजक  
िलिखए| यᳰद ᮧार᭥भ मᱶ उसके पास 3 कंचे थे तो अब ᳰकतने कंचे ह ᱹ? 

Q.16. A tailor has to do embroidery on the neck of a dress as shown in the figure.  
 What will be the length of the embroidered part?    (3) 
 एक दरजी को ᳰदए गए गले कᳱ िडज़ाइन पर कढ़ाई करनी ह,ै जसैा िचᮢ मᱶ ᳰदखाया गया है |  
 कढ़ाई वाले ᳰकनारे कᳱ ल᭥बाई ᭄ात कᳯरए | 

  
 



Q.17. Write the examples of inverse proportion from the given statements.  (3) 
(a) Number of people engaged in harvesting and time taken to complete the work. 
(b) Time taken in journey from Delhi to Jaipur and Speed of bus. 
(c) Population of Uttar Pradesh and area of land per hectare. 
(d) Time to cover the distance between Delhi and Rewari by uniform speed of 

40km/hr. 
(e) Area of the field and harvested rice crop. 

िन᭥᳖ मᱶ से ᮧितलोम अनुपात के उदहारण िलिखए  

(a) एक खेत पर कटाई करन ेवाले ᳞िᲦयᲂ कᳱ सं᭎या व कटाई पूरा करने मᱶ लगा समय | 
(b) ᳰद᭨ली से जयपुर कᳱ याᮢा मᱶ िलया गया समय व बस कᳱ चाल | 
(c) उᱫर ᮧदेश कᳱ जनस᭎ंया व ᮧित ᳞िᲦ भूिम का ᭃेᮢ  | 
(d) 40 ᳰक.मी. कᳱ चाल से ᳰद᭨ली व रेवाड़ी के बीच तय कᳱ गई दरूी व िलया गया समय | 
(e) भूिम का ᭃेᮢ फल व काटी गई धान कᳱ फसल | 

Q.18. Construct a rectangle KLMO if KL=5.2cm and LM=5.7cm.    (3) 
 एक आयत KLMO कᳱ रचना कᳱिजए यᳰद KL=5.2 cm तथा LM=5.7cm ह ै| 

Q.19. Factorise. गुणनखंड कᳱिजए        (3) 
  a4 + 2a2b2 +b4 
     
    SECTION-D 

Q.20. Mohan and Sohan two brothers divided the rectangular piece of land into 4 
rectangular parts as shown in the figure. Find the total area of grass field and field for 
grain.         (4) 
मोहन व सोहन दो भाइयो न ेिमलकर भूिम के आयताकार टुकड़े को चार आयताकार भागो मᱶ बाँटा 
जैसा कᳱ आकृित मᱶ ᳰदखाया गया ह ै| चारे के िलए खेत व दाने के िलए खेत का कुल ᭃेᮢ फल ᭍या होगा? 

  
Q.21. Plot the four points K,L,M and N on graph. Join the points in order and name the  

 figure so formed.        (4) 

 िन᭥᳖ िब᭠दओु K, L, M तथा N को ᮕाफ पर अंᳰकत कᳱिजए व िब᭠दओु के ᮓमानुसार िमलाइए |  
 बनन ेवाली आकृित ᭍या ह ै? 
 K(4,3) , L(6,1), M(6,5), N(4,7) 
 

गायो का ᭭थान  

चारे का खेत  दाने के िलए खेत  

Poultry farm 
मुगᱮ बाड़ा  



Q.22. Factorize and Divide :-       (4) 
 गुणनखंड करके िवभाजन कᳱिजए:- 
 4lm (m2 + 6m -16) ÷ 2l (m+8) 
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SECTION-A 
Q.1. Circle the smallest number in the box.      (1) 

 बॉ᭍स मᱶ दी गई स᭎ंयाओ मᱶ से सबसे छोटी सं᭎या पर गोला लगाइए | 
 
  

 

Q.2. Write the numbers in the boxes just before and after the given number. (2) 
 दी गई सं᭎या से ठीक पहले और ठीक बाद कᳱ सं᭎या िलिखए | 
  
             , 5146 ,  
 

Q.3. Solve (हल कᳱिजए)       (2) 
 3  8  5  6 
+   9  4  3  5 
   

 

Q.4. Solve (हल कᳱिजए)         (2) 
  
  10    9470 
 
 
 
 

8009, 3005, 5007, 7007 

 



Q.5. Look and Answer: (देखो और उᱫर दो)      (3) 
  
Class (कᭃा) Enrollment 

(नामाकंन) 
Present (उपि᭭थत) Absent(अनपुि᭭थत) 

VI 450 400 50 

VII 560 480 80 

VII 225 200 25 

Total    

 
(a) What is the total enrolment in the school? 

िव᳒ालय मᱶ कुल ᳰकतना नामांकन ह ै? 
(b) How many total students are present in school? 

िव᳒ालय मᱶ कुल ᳰकतने बᲬे उपि᭭थत ह ै? 
(c) Which class has lowest enrolment? 

सबसे कम नामाकंन ᳰकस कᭃा मᱶ है ? 

       SECTION-B 

Q.6. Which one of the following is a trinomial? Tick (       ) the correct answer. (1) 
 िन᳜ मᱶ से कौन सा िᮢपद है सही (       ) का िनशान लगाइए | 

(i) x + y (ii)  1000  (iii) xy (iv) ab+bc+cd 
Q.7. Find the area of the given figure (by counting the squares).   (1)  

 दी गई आकृित का ᭃेᮢफल वगᲄ को िगन कर ᭄ात कᳱिजए | 
  

 

 

 

 

 

 

 

 

 

 



Q.8. Write the correct answer in the cloud from the box.    (1) 
 बॉ᭍स मᱶ से चुनकर सही श᭣द बादल मᱶ िलिखए | 
 
  
 
 

  
Q.9. If we write all the factors of 30 then 1  is one of its factor? (Yes/No)  (1) 

 यᳰद स᭎ंया 30 के सभी गुणनखंड ᳰकए जाए तो ᭍या 1 इसका गुणनखंड होगा ? (हाँ/नहᱭ) 
Q.10. Find the factors: (गुणनखंड कᳱिजए)     (2) 

              12a2b + 8ab2 
Q.11. Fill in the blanks.     (2) 

   
(i) Multiplicative inverse of 4/3 is _______________. 
(ii) Multiplicative inverse of -2 is ________________. 
(iii) Reciprocal of -9/12 is ________________. 
(iv) Reciprocal of 4/9 is ________________.  

 ᳯरᲦ ᭭थान भᳯरए 

(i) 4/3 का  गुणा᭜मक ᮧितलोम _________ ह ै| 
(ii) -2 का गुणा᭜मक ᮧितलोम ___________ है | 
(iii) -9/12 का गुणा᭜मक ᳞ु᭜ᮓम ________ है | 
(iv)  4/9 का ᳞ु᭜ᮓम _________ ह ै| 

Q.12. (i) Square of 13 is __________.     (2) 
(ii) Square root of 225 is __________. 

 (i)13 का वगᭅ ______ ह ै| 

 (ii) 225 का वगᭅमूल ______ ह ै| 

Q.13. Simplify the expression and find the value for x = 1.    (2) 
 x = 1 के िलए ᳞ंजक को सरल कᳱिजए तथा मान ᭄ात कᳱिजए  
  3 (x - 3) + 2. 

Q.14. Simplify (सरल कᳱिजए)     (2) 

 ( 
ଷ

ହ
 )-5 x (ହ

 ଷ
)-2 

 

Exponent, base 
(घात) , (आधार) 



Q.15. In the given figure while finding the area and perimeter Rajesh committed  
 error in each part (i) and part (ii). What is the correct area and perimeter? (2) 
 राजेश ने दी गई आकृित का ᭃेᮢफल तथा पᳯरमाप िनकलते ᱟए ᮓमश: भाग (i) तथा भाग (ii)  
 गलितया ंकᳱ ह ैआकृित का सही ᭃेᮢफल व पᳯरमाप ᭍या होगा ? 
 Part (i) Area of Triangle ABC = ଵ

 ଶ
 x (base x height) 

                    = ଵ

 ଶ
 x (5cm x 6cm) 

                    =  15cm. 
 Part (ii) Perimeter of Triangle ABC  = Sum of length of three sides of triangle. 

                             = 5cm + 5cm + 4cm 

                                  = 14cm 

 भाग  (i) िᮢभुज ABC का ᭃेᮢ फल  = ଵ

 ଶ
 x (आधार  x ऊंचाई ) 

                    = ଵ

 ଶ
 x (5cm x 6cm) 

                    =  15cm. 
 भाग  (ii) िᮢभुज ABC का पᳯरमाप   = िᮢभुज कᳱ तीनो भजुाओ का योग . 

                             = 5cm + 5cm + 4cm 

                                  = 14cm2 

  

Q.16. Find the square root of 4096 by prime factorisation method.   (3) 
 4096 का अभा᭔य गुणनखडं िविध से वगᭅमूल ᭄ात कᳱिजए | 

Q.17. Represent these numbers on number line.    (3) 
 िन᭥᳖ स᭎ंयाओ को स᭎ंया रेखा पर िनᱧिपत कᳱिजए | 

(i) 7/4  (ii) -5/6 

 

 



Q.18. Area of the square paper is 144cm2. What will be the length of each side of the  
 paper?      (3) 
 वगाᭅकार कागज़ का ᭃेᮢ फल 144 cm2  है | इसकᳱ भजुा कᳱ ल᭥बाई ᭍या होगी ? 
   

 

 ? 

 

 

Q.19. Bob wants to prepare a bag and he has cut the cloth as given in the figure. Find  
 how much cm2 cloth will be required?  Use the identity (a + b)2 = a2 + 2ab + b2   
 for the same.          (3) 
 बॉब एक बगै बनाना चाहता ह ैतथा उसने नीच ेᳰदए गए माप अनुसार कपडा काटा ᱟआ ह ै|  
 बताइए उस ेकुल ᳰकतने वगᭅ से.मी. कपडा लेना पड़ेगा ? 
  (a + b)2 = a2 + 2ab + b2 का ᮧयोग कᳱिजए | 
  a = 3cm  , b= 2cm  

  
Q.20. I have a rectangular garden in my house. Its length is 30m and width is 20m. (4) 

(i) What is the total length of the fence surrounding it? 
(ii) What is the area of land on which the garden is located?  

 मेरे  घर मᱶ एक आयताकार बगीचा ह ैिजसकᳱ ल᭥बाई 30 मी. और चौड़ाई 20 मी. है |   

(i) इस बगीचे को चारो ओर से घेरने वाली बाड़ कᳱ ल᭥बाई ᭍या होगी ? 
(ii) यह बगीचा िजस भूिम पर बना ह ैउसका ᭃेᮢफल ᭍या होगा ? 

  

 

        144 cm2 

Garden 

(बगीचा) 



Q.21. Ishani was ill last week. Her mother looked after and recorded her temperature (4) 
 after the interval of one hour. Her temperature recorded is shown in the below  
 given graph.          
 इशानी को बीते स᳙ाह बुखार ᱟआ तथा उसकᳱ माँ ने हर घंटे उसका तापमान िलया जो िन᭥᳖  
 आलेख मᱶ दशाᭅया गया ह ै| 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
(i) What was Ishani’s temperature at 1 o’clock? 

 इशानी का तापमान 1 बजे दोपहर ᭍या था ? 

(ii) When was Ishani’s termperature 38.5oC? 

 इशानी का तापमान 38.5oC ᳰकतने बजे था ? 

(iii) Ishani’s temperature was the same two times during the period given, what were 
these two times? 

 इस पूरे अंतराल मᱶ इशानी का तापमान दो बार एक समान था | य ेदो समय ᭍या –᭍या थे ? 

(iv) During which periods did the Ishani’s temperature showed an upward trend? 

 ᳰकन अतंरालो मᱶ इशानी का तापमान बढ़ने का ᱧझान दशाᭅता ह ै? 
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Q.22. (i) Carry out the multiplication of the expressions of the following pair. 
 िन᭥᳖िलिखत य᭏ुम मᱶ ᳞ंजको का गुणन कᳱिजए |    (2) 
   4x , x+y 

 (ii) Find the product.       (2) 

गुणनफल ᭄ात कᳱिजए | 

  (a2) x (2a2)2 x (4a)2 
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     SECTION-A 

Q.1. Encircle the greatest number from the given numbers.    (1) 
 नीचे दी गई सं᭎याओ मᱶ से सबसे बड़ी स᭎ंया पर गोला लगाइए | 
 
  108, 81, 18, 801, 779, 499, 99 
 
 

Q.2. Place value of 8 in 458  = _________.      (1) 
 458  मᱶ 8 का ᭭थानीय मान = _________ 
 
 

Q.3. Fill in the blanks:         (2) 
 ᳯरᲦ ᭭थान भᳯरए  
   30 = ________ x _________ 
 
   30 = ________ + _________ 
 
   30 = ________ - _________ 
 
   30 = ________ ÷ _________ 
 
 
 



 
Q.4. Match the following:        (2) 

 िमलान कᳱिजए  
  

  
 
 
 

Q.5. Fill in the blanks:-         (2) 
 ᳯरᲦ ᭭थान भᳯरए  
 

 

 
 
 
 
 
 
 
 
 



Q.6. Join the dots in the increasing order.      (2) 
 बढ़ते ᮓम मᱶ िब᭠दओु को िमलाइए  
 

 
                               

Q.7. Put the correct sign (       ,      ,      ).      (2) 
 उिचत िच᭠ह (    ,    ,    ) लगाइए | 
    
   150   105  209 902 
 
   171  117  366 306 
 

Q.8. Solve the following.        (2) 
 हल कᳱिजए  
   19 x 7 = __________ 
   105 ÷ 3 = __________ 

Q.9. Rahul has a copy having 15 pages. How many pages Rahul has in  4 such copies?  
 राᱟल के पास 15 पेज कᳱ एक कॉपी ह ै| राᱟल के पास ऐसी 4 कॉिपयो मᱶ ᳰकतने पेज हᲂग?े  
            (3)                                                                                 

  
 ______________________________ 
 
 ______________________________ 
 



Q.10. Understand the pattern of numbers and complete it.    (3) 
 स᭎ंयाओ के पैटनᭅ को समझकर पूरा कᳱिजए | 
 101, 91,81, __________ ,  ____________,  ____________. 
  
 12, 24, 36,  __________ ,  ____________,  ____________. 
 

Q.11. Complete the following table.       (3) 
 नीचे दी गई तािलका को पूरा कᳱिजए | 
 
  

 

 

 

 

Q.12. Find the perimeter of following figures:-      (3) 
 नीचे दी गई आकृितयᲂ का पᳯरमाप ᭄ात कᳱिजए | 
  
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

Multiply  
(गणुा करᱶ) 

7 9 11 

4 
 

6 

 
 

_________ 

 
 

_________ 

 
 

_________ 



 
 
 
 
 
 
 

Q.13. How many three digit numbers can be made using digits 5, 0, 2 ? Write them.(4) 
अंक 5, 0 तथा 2 का ᮧयोग करते ᱟए 3 अंक वाली ᳰकतनी स᭎ंयाएँ बनायी  जा सकती ह ै? उ᭠हᱶ 
िलिखए| 
 
 
 
 
 
 

     SECTION-B 

Q.14. Choose the correct answers:        (1) 
 सही उᱫर चुिनए : 
 (-3)-4 can also be written as  [1/34   , 1/(-3)4      , -3/4    , (-3)x(-4)] 
 (-3)-4 को _________ कᳱ तरह भी िलख सकते ह ै| 
 

Q.15. Identify the variables and numerical coefficients.    (1) 
 चर और सं᭎या᭜मक गुणांक पहचान कर िलिखए | 
   3z + 9w 
   
  Variables (चर)       Coefficients (गुणांक) 
 
 

 

Q.16. Choose the correct answer.       (1) 
 ௔

௕
 is the additive inverse of _________.        

 सही उᱫर चुिनए 
 ௔

௕
 का यो᭔य ᮧितलोम ह ै 

   
(a) ି௔

   ௕
 (b) –(

 ௔

௕
 ) (c)    ௔

ି௕
  (d) All of the above. 

Q.17. Write four rational numbers between ଷ

ଵଵ
 𝑎𝑛𝑑

ଽ

ଵଵ
.    (2) 



 ଷ

ଵଵ
 और 

ଽ

ଵଵ
. के बीच मᱶ चार पᳯरमय सं᭎या िलिखए | 

 
  

 

Q.18. Choose two numbers which can represent the number of small squares in the given 
figure.          (2) 
 दी गई सं᭎याओ मᱶ से कौन सी दो स᭎ंयाए आकृित मᱶ छोटे वगᲄ कᳱ सं᭎या को दशाᭅती ह ै| 
    

(a) 25  (b) √5  (c) 10  (d) √25 
 

 
     

     

     

     

     
 

    

 
 

 छोटा वगᭅ  
Small square   
 
 
  
 
 
 
 
 



Q.19. Mark the following co-ordinates on the graph.     (2) 
 िन᭥᳖ िब᭠दओु के िनदᱷशांक को आलेख मᱶ दशाᭅइए : 
    (4,3)  ,  (3,4) 

  
 

Q.20. Find the square root of 144.    (3) 
 अभा᭔य गुणनखंड िविध ᳇ारा (144)1/2 को सरल कᳱिजए | 
 
 
 
 
 
 
 

Q.21. Using the rules of exponents, simplify.      (4) 
 घातांक के िनयम ᮧयोग करते ᱟए िन᭥᳖ को सरल कᳱिजए | 
  
 25 x 42 x 63 
 42 x 63 x 23 

 
 
 
 
 
 
 
 



Q.22. Using identity, evaluate.        (4) 
 सवᭅसिमका का उपयोग से िन᭥᳖ का मान ᭄ात कᳱिजए | 
 102 x 98 
 Also, write the identity used. 
 उपयुᭅᲦ सवᭅसिमका भी िलिखए | 

 

 


